PNEUMATIC COUPLINGS

PNEUMATISCHE KUPPLUNGEN ~— %

SERIE 021B-

KNI
Y% | /////
g ; //// - 7

3 % ///

Materials
[ 1! _|
o .
—|
i : HHE_-_
m
)
I 1| m
A |
B (o}
0 - 35 bar .: -20° to + 100°C (NBR)
(0-508 PSI) -4° to + 212°F

OM 178 - 00765
OM 200 - 00450

FLOW 310 It/min

Material Code

A = Brass

B = Brass

C =Brass

S = Brass

Shut Off

DN

Air
12 6,0
1,0 / 50
08 / 4,0
S os / 3 30
& / &
A 04 A 20
o / o
5 o
o 02 7 =
o o0 a 0,0
0 50 100 150 200 250 300 ’
Flow Rate in I/min
Options Plug Profile Serie 021B
AISI303 AlSI316
FPM EPDM i
Stainless Steel Stainless Steel I.I) o
g3
I

NICKEL m
021KB

2 STAGE

021D

Water

/
_—

0 2 4 6 8

Flow Rate in I/min

Compatible with

PARKER - RECTUS  21KB, 90
CAMOZZI
LEGRIS



PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

SERIE 021B

QUICK COUPLINGS SCHNELLKUPPLUNGEN

—O>-| with male thread —O>-| with female thread —O>-l with standard hose tail —O>—| with panel mount standard hose tail

oD

31¥3$ 1SL

ComectonPario- W' L 00! Covecion rorve S L on fconeeion oo, S Lo

BSP1/8" | 021EGB 10 14 16,3 BSP 178" 021DGB 10 14 365 163 4mm-1/6" 021 HGB 04 14 163  4mm-M10x1 021 MGB 04 14 61 163
BSP1/4" 021EGB13 17 39 163 BSP1/4" 021DGB13 |17 385163 6mm-1/4" 021HGB 06 14 47 163 5mm-M12x1 021MGBO5 17 61 163
BSP3/8" 021EGB17 19 39 163 BSP3/8" 021DGB17 |19 385163 8mm-5/16"021HGBO08 14 47 163 6mm-M12x1 021MGB06 17 61 163
M10x1 |021EGBM10 14 |39 163 M12x15 021DGBM12 17 395 163 9 mm-5/14" 021HGB 09 14 47 163 8mm-M12x1 021MGBO08 17 61 163
M12x15 021EGBM 12 17 40 163 M14x15 021DGBM14 17 395 163 10 mm-3/8"021HGB10 14 47 163

M14x15 021EGBM 14 17 40 163

—O)—! with panel mount plastic hose tail —O>—| with plastic hose tail —C>-| with plastic hose tail and spring

SW,

Connection PartNo. [sw| L [@D Connection PartNo. [SW| L |@D Connection PartNo. |SW| L |@D
4x6mm-M10x1 021SGB04 14 55 163 4x6mm-M10x1 021PGB 04 14 43163 4x6mm-M10x1 021YGB 04 14 1195 163
6x8mm-M12x1| 021SGB06 17 55 163 6x8mm-M12x1 021PGB06 14 43163 6x8mm-M12x1 021YGB 06 14 1245 163

PLUGS STECKNIPPEL

—O>-| with male threod —O>-| with female thread —O>-| with standard hose tail —O>-Iwith panel mount standard hose tail

=T EBﬁEEEI@ =it
L]
SW SW

- Connection Part No. Sw ‘ Connectlon Part No. ‘ SwW Connection Part No. SwW ‘ L

BSP 1/8" 021EUB10 | 14 BSP 1/8" 021DUB10 | 14 405 4 mm -1/6" 021 HUBO4 14 51 4mm-M10x1 021MUB 04 14 65
BSP 174" 021EUB 13 17 43 BSP 1/4" 021DUB13 17 425 5mm-1/5" 021HUBO5 14 | 51 5mm-M10x1 021MUBO5 17 65
BSP 3/8" 021EUB 17 19 | 43 BSP3/8" 021DUB17 19 425 6mm-1/4" 021HUBO6 14 | 51 6mm-M12x1 021MUB 06 | 17 65
M10x1 021EUBM 10 14 | 43 M10x1 021DUBM 10 14 425 8 mm-5/16" 021HUBO8 14 @ 51 8mm-M12x1 021MUBO8 17 65
M12x15 021EUBM12| 17 | 44 M12x15 021DUBM12 17 435 9 mm-5/14" 021HUB 09 14 | 51 9mm-M12x1 021MUBQ9 | 17 65
M14x15 021EUBM14| 17 | 44 M14x15 021DUBM14 17 435 10 mm-3/8" 021HUB10 14 | 51 10 mm-M14x1 021MUB10 17 | 65

—O- with panel mount plastic hose tail —O with plastic hose tail —O+  with plastic hose tail and spring
| |

Connection Part No. SW| L Connection Part No. SW| L Connection Part No. Sw ‘
4x6mm-M10x1  021SUBO04 14 59 4x6mm-M10x1  021PUBO4 14 47 4x6mm-M10xT 021YUBO4 14 1235
6x8mm-M12x1  021SUB06 17 59 6x8mm-M12x1  021PUBOQ6 14 | 47 6x8mm-M12x1  021YUBO6 @ 14 1285



